Tabulation of Bids

| Awarded to: | Date Awarded: | Amount Awarded |
|------------------------------|---------------|--|
| Fahrner Asphalt Sealers, LLC | 09/15/22 | (includes Base Bid + All Alternates) \$1,074,558.13 |

| | Project Manager: | Andrew Trimble | Consultant: | Becher Hoppe |
|------------------------------|------------------|---|-------------|--------------|
| State of Wisconsin | Airport: | RRL - Merrill Municipal | Bid Date: | 3/17/2022 |
| Department of Transportation | Project: | RRL1002 / AIP-12 / 0735-50-12 | Bid Time: | 2:00 P.M. |
| Bureau of Aeronautics | Bid for: | Pavement maint., Hangar drainage imp., Apron exp. | DBE Goals: | 6.1% |

| DESCRIPTION: F 2 BASE BID - Pavement Maintenance P | | | | alers, LLC | | | | | |
|--|---|----------------------|-------------|--------------|------------------|------------|--------|------------|--------|
| Bid Item | Description | Quantity Unit | Unit Price | Total | Unit Price Total | Unit Price | Total | Unit Price | Total |
| 619.1000 | MOBILIZATION | 1 LS | \$38,000.00 | \$38,000.00 | \$0.00 | | \$0.00 | | \$0.00 |
| 642.5001X | FIELD OFFICE TYPE B | 1 EA | \$5,000.00 | \$5,000.00 | \$0.00 | | \$0.00 | | \$0.00 |
| P620.111 | PAINTING, WHITE, WATERBORNE, TYPE I | 16,000 SF | \$0.90 | \$14,400.00 | \$0.00 | | \$0.00 | | \$0.00 |
| P620.311 | PAINTING, YELLOW, WATERBORNE, TYPE I | 8,000 SF | \$0.90 | \$7,200.00 | \$0.00 | | \$0.00 | | \$0.00 |
| P620.900 | PAINTING, BLUE, WATERBORNE, TYPE I | 20 SF | \$10.00 | \$200.00 | \$0.00 | | \$0.00 | | \$0.00 |
| P620.710 | REFLECTIVE MEDIA, TYPE I, GRADATION A | 2,000 LB | \$0.46 | \$920.00 | \$0.00 | | \$0.00 | | \$0.00 |
| P643.010 | AIRPORT CONSTRUCTION TRAFFIC CONTROL | 1 LS | \$22,500.00 | \$22,500.00 | \$0.00 | | \$0.00 | | \$0.00 |
| X628.101 | CRACK FILLING ASPHALT PAVEMENT (MASTIC) | 7,000 LF | \$5.23 | \$36,610.00 | \$0.00 | | \$0.00 | | \$0.00 |
| X628.102 | CRACK FILLING ASPHALT PAVEMENT (POLY FIBER) | 75,000 LF | \$1.36 | \$102,000.00 | \$0.00 | | \$0.00 | | \$0.00 |
| FAAP60801 | ASPHALT SURFACE TREATMENT | 114,000 SY | \$1.47 | \$167,580.00 | \$0.00 | | \$0.00 | | \$0.00 |
| | | | | | | | | | |
| | BASE BID | Pavement Maintenance | | \$394,410.00 | \$0.00 | | \$0.00 | | \$0.00 |

| DESCRIPTION | l: | Fahrner Asphalt Se | alers, LLC | | 0 | 0 | 0 | |
|--------------|---|--------------------|------------|-------------|------------|--------|------------------|------------------|
| ALTERNATE #1 | - T-Hangar Drainage Improvements | ľ | | | | | | |
| Bid Item | Description | Quantity Unit | Unit Price | Total | Unit Price | Total | Unit Price Total | Unit Price Total |
| 205.0100(1) | EXCAVATION COMMON | 3,000 CY | \$27.14 | \$81,420.00 | | \$0.00 | \$0.00 | \$0.00 |
| 305.0125X(1) | BASE AGGREGATE DENSE 1 1/4-INCH (UNDISTRIBUTED) | 700 CY | \$26.31 | \$18,417.00 | | \$0.00 | \$0.00 | \$0.00 |
| 312.0110X(1) | SELECT CRUSHED MATERIAL | 1,400 CY | \$40.35 | \$56,490.00 | | \$0.00 | \$0.00 | \$0.00 |
| 455.0605(1) | TACK COAT | 175 GAL | \$4.44 | \$777.00 | | \$0.00 | \$0.00 | \$0.00 |
| 465.0105(1) | ASPHALTIC SURFACE | 450 TON | \$123.54 | \$55,593.00 | | \$0.00 | \$0.00 | \$0.00 |
| 612.0106(1) | PIPE UNDERDRAIN 6-INCH | 800 LF | \$10.55 | \$8,440.00 | | \$0.00 | \$0.00 | \$0.00 |

| 612.0806(1) APRON ENDWALLS FOR UNDERDRAIN REINFORCED CONCRETE 6-INCH | 2 EACH | \$943.50 | \$1,887.00 | \$0.00 | \$0.00 | \$0.00 |
|---|-----------------------|-------------|--------------|--------|--------|--------|
| 619.1000(1) MOBILIZATION | 1 LS | \$31,800.00 | \$31,800.00 | \$0.00 | \$0.00 | \$0.00 |
| 625.0500(1) SALVAGED TOPSOIL | 1,800 SY | \$3.61 | \$6,498.00 | \$0.00 | \$0.00 | \$0.00 |
| 627.0200(1) MULCHING, METHOD B (WOOD FIBER) | 1,800 SY | \$2.11 | \$3,798.00 | \$0.00 | \$0.00 | \$0.00 |
| 628.1504(1) SILT FENCE | 100 LF | \$2.78 | \$278.00 | \$0.00 | \$0.00 | \$0.00 |
| 628.1520(1) SILT FENCE MAINTENANCE | 100 LF | \$1.11 | \$111.00 | \$0.00 | \$0.00 | \$0.00 |
| 628.1905(1) MOBILIZATIONS EROSION CONTROL | 2 EACH | \$277.50 | \$555.00 | \$0.00 | \$0.00 | \$0.00 |
| 628.1910(1) MOBILIZATIONS EMERGENCY EROSION CONTROL | 2 EACH | \$111.00 | \$222.00 | \$0.00 | \$0.00 | \$0.00 |
| 628.2002(1) EROSION MAT URBAN CLASS I, TYPE A (UNDISTRIBUTED) | 200 SY | \$1.84 | \$368.00 | \$0.00 | \$0.00 | \$0.00 |
| 628.7504(1) TEMPORARY DITCH CHECKS | 50 LF | \$11.38 | \$569.00 | \$0.00 | \$0.00 | \$0.00 |
| 629.0210(1) FERTILIZER TYPE B | 1 CWT | \$138.75 | \$138.75 | \$0.00 | \$0.00 | \$0.00 |
| 630.0140(1) SEEDING MIXTURE NO.40 | 50 LB | \$24.98 | \$1,249.00 | \$0.00 | \$0.00 | \$0.00 |
| 630.0200(1) SEEDING TEMPORARY | 50 LB | \$5.00 | \$250.00 | \$0.00 | \$0.00 | \$0.00 |
| 630.0500(1) SEED WATER | 1 MGAL | \$111.00 | \$111.00 | \$0.00 | \$0.00 | \$0.00 |
| 642.5001X(1) FIELD OFFICE TYPE B | 1 EACH | \$5,000.00 | \$5,000.00 | \$0.00 | \$0.00 | \$0.00 |
| 645.0105(1) GEOTEXTILE, TYPE C | 4,000 SY | \$4.83 | \$19,320.00 | \$0.00 | \$0.00 | \$0.00 |
| 690.0150(1) SAWING ASPHALT | 350 LF | \$4.40 | \$1,540.00 | \$0.00 | \$0.00 | \$0.00 |
| X108.101(1) LOCATE, TEST, AND PROTECT EXISTING UTILITIES | 1 LS | \$3,996.00 | \$3,996.00 | \$0.00 | \$0.00 | \$0.00 |
| | | | | | | |
| ALTERNATE #1 - T-Hangar | Drainage Improvements | | \$298,827.75 | \$0.00 | \$0.00 | \$0.00 |

| | | | Fahrner Asphalt Sea | Asphalt Sealers, LLC 0 | | c | | 0 | | |
|--------------|---|---------------|---------------------|------------------------|------------|--------|------------|--------|------------|--------|
| | - Apron Expansion | | | _ | | | | | | |
| Bid Item | Description | Quantity Unit | Unit Price | Total | Unit Price | Total | Unit Price | Total | Unit Price | Total |
| 204.0110(2) | REMOVING ASPHALTIC SURFACE | 17 SY | \$11.10 | \$188.70 | | \$0.00 | | \$0.00 | | \$0.00 |
| 205.0100(2) | EXCAVATION COMMON (UNDISTRIBUTED) | 100 CY | \$39.07 | \$3,907.00 | | \$0.00 | | \$0.00 | | \$0.00 |
| 305.0125X(2) | BASE AGGREGATE DENSE 1 1/4-INCH (UNDISTRIBUTED) | 500 CY | \$28.42 | \$14,210.00 | | \$0.00 | | \$0.00 | | \$0.00 |
| 211.0100(2) | PREPARE FOUNDATION FOR ASPHALTIC PAVING | 1 LS | \$24,531.00 | \$24,531.00 | | \$0.00 | | \$0.00 | | \$0.00 |
| 455.0605(2) | TACK COAT | 510 GAL | \$4.44 | \$2,264.40 | | \$0.00 | | \$0.00 | | \$0.00 |
| 460.6243(2) | HMA PAVEMENT 4 MT 58-34 S | 960 TON | \$108.78 | \$104,428.80 | | \$0.00 | | \$0.00 | | \$0.00 |
| 460.6444(2) | HMA PAVEMENT 4 MT 58-34 H | 750 TON | \$110.78 | \$83,085.00 | | \$0.00 | | \$0.00 | | \$0.00 |
| 611.0420(2) | RECONSTRUCTING MANHOLES | 1 EACH | \$1,082.25 | \$1,082.25 | | \$0.00 | | \$0.00 | | \$0.00 |
| 619.1000(2) | MOBILIZATION | 1 LS | \$35,631.00 | \$35,631.00 | | \$0.00 | | \$0.00 | | \$0.00 |

| | | 1 | | | | | |
|--------------|---|------------------------|-------------|--------------|--------|--------|--------|
| 625.0105X(2) | TOPSOIL | 210 CY | \$23.87 | \$5,012.70 | \$0.00 | \$0.00 | \$0.00 |
| 628.0200(2) | MULCHING, METHOD B (WOOD FIBER) | 2,000 SY | \$2.11 | \$4,220.00 | \$0.00 | \$0.00 | \$0.00 |
| 628.1504(2) | SILT FENCE (UNDISTRIBUTED) | 500 LF | \$2.11 | \$1,055.00 | \$0.00 | \$0.00 | \$0.00 |
| 628.1520(2) | SILT FENCE MAINTENANCE | 500 LF | \$0.01 | \$5.00 | \$0.00 | \$0.00 | \$0.00 |
| 628.1905(2) | MOBILIZATIONS EROSION CONTROL | 2 EACH | \$277.50 | \$555.00 | \$0.00 | \$0.00 | \$0.00 |
| 628.1910(2) | MOBILIZATIONS EMERGENCY EROSION CONTROL | 2 EACH | \$111.00 | \$222.00 | \$0.00 | \$0.00 | \$0.00 |
| 628.2002(2) | EROSION MAT URBAN CLASS I, TYPE A | 675 SY | \$2.22 | \$1,498.50 | \$0.00 | \$0.00 | \$0.00 |
| 628.7504(2) | TEMPORARY DITCH CHECKS (UNDISTRIBUTED) | 50 LF | \$8.88 | \$444.00 | \$0.00 | \$0.00 | \$0.00 |
| 628.7555(2) | CULVERT PIPE CHECKS | 5 EA | \$27.75 | \$138.75 | \$0.00 | \$0.00 | \$0.00 |
| 629.0200(2) | FERTILIZER TYPE B | 2 CWT | \$138.75 | \$277.50 | \$0.00 | \$0.00 | \$0.00 |
| 630.0140(2) | SEEDING MIXTURE NO.40 | 40 LB | \$24.98 | \$999.20 | \$0.00 | \$0.00 | \$0.00 |
| 630.0200(2) | SEEDING TEMPORARY | 65 LB | \$5.00 | \$325.00 | \$0.00 | \$0.00 | \$0.00 |
| 630.0500(2) | SEED WATER | 1 MGAL | \$111.00 | \$111.00 | \$0.00 | \$0.00 | \$0.00 |
| 642.5001X(2) | FIELD OFFICE TYPE B | 1 EACH | \$5,000.00 | \$5,000.00 | \$0.00 | \$0.00 | \$0.00 |
| 690.0150(2) | SAWING ASPHALT | 400 LF | \$4.40 | \$1,760.00 | \$0.00 | \$0.00 | \$0.00 |
| P620.311(2) | PAINTING, YELLOW, WATERBORNE, TYPE I | 650 SF | \$4.22 | \$2,743.00 | \$0.00 | \$0.00 | \$0.00 |
| P620.710(2) | REFLECTIVE MEDIA, TYPE I, GRADATION A | 45 LB | \$1.11 | \$49.95 | \$0.00 | \$0.00 | \$0.00 |
| P643.010(2) | AIRPORT CONSTRUCTION TRAFFIC CONTROL | 1 LS | \$20,000.00 | \$20,000.00 | \$0.00 | \$0.00 | \$0.00 |
| P646.010(2) | MAINTENANCE AND REPAIR OF HAUL ROADS | 1 LS | \$2,500.00 | \$2,500.00 | \$0.00 | \$0.00 | \$0.00 |
| P646.020(2) | MAINTENANCE AND REPAIR OF AIRPORT HAUL ROADS | 1 LS | \$2,500.00 | \$2,500.00 | \$0.00 | \$0.00 | \$0.00 |
| X648.015(2) | AIRCRAFT TIE DOWN | 10 SET | \$4,995.00 | \$49,950.00 | \$0.00 | \$0.00 | \$0.00 |
| X108.101(2) | LOCATE, TEST, AND PROTECT EXISTING UTILITIES | 1 LS | \$1,554.00 | \$1,554.00 | \$0.00 | \$0.00 | \$0.00 |
| L108.320(2) | COUNTERPOISE PLOW | 30 LF | \$9.16 | \$274.80 | \$0.00 | \$0.00 | \$0.00 |
| L108.508(2) | 5000 VOLT CABLE NO.8 | 260 LF | \$2.46 | \$639.60 | \$0.00 | \$0.00 | \$0.00 |
| L108.706(2) | BARE COUNTERPOISE WIRE NO.6 | 30 LF | \$8.05 | \$241.50 | \$0.00 | \$0.00 | \$0.00 |
| L108.810(2) | COUNTERPOISE GROUND ROD | 20 LF | \$19.43 | \$388.60 | \$0.00 | \$0.00 | \$0.00 |
| L125.343(2) | MEDIUM INTENSITY TAXIWAY LIGHT, L-861T LED, BASE MOUNTED | 4 EACH | \$584.97 | \$2,339.88 | \$0.00 | \$0.00 | \$0.00 |
| L125.620(2) | REMOVE RUNWAY OR TAXIWAY BASE MOUNTED LIGHT | 1 EACH | \$249.75 | \$249.75 | \$0.00 | \$0.00 | \$0.00 |
| XSP001(2) | ADJUST TAXIWAY LIGHTS | 5 EACH | \$832.50 | \$4,162.50 | \$0.00 | \$0.00 | \$0.00 |
| XSP002(2) | TAXIWAY A CIRCUIT MODIFICATIONS | 1 LS | \$2,775.00 | \$2,775.00 | \$0.00 | \$0.00 | \$0.00 |
| | | | | | | | |
| | ALTERNATE | E #2 - Apron Expansion | | \$381,320.38 | \$0.00 | \$0.00 | \$0.00 |

| TOTAL BASE BID - Pavement Maintenance | \$394,410.00 | \$0.00 | \$0.00 | \$0.00 |
|---|----------------|--------|--------|--------|
| TOTAL ALTERNATE #1 - T-Hangar Drainage Improvements | \$298,827.75 | \$0.00 | \$0.00 | \$0.00 |
| TOTAL ALTERNATE #2 - Apron Expansion | \$381,320.38 | \$0.00 | \$0.00 | \$0.00 |
| GRAND TOTAL (Base Bid) | \$1,074,558.13 | \$0.00 | \$0.00 | \$0.00 |